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Note : This paper consists of Sixty (60) multiple-choice type of questions, out of which the

candidate would be required to answer any Fifty (50) questions. In the event of
candidate attempting more than Fifty (50) questions, the first Fifty (50) questions
attempted by the Candidate would be evaluated. 50 Q x 2 M = 100 Marks

Given below in the table is the decadal data of Population and Electrical Power Production of

a country.
Year Population (million) Electrical Power Production (GW)*
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
*1 GW =1000 million watt

Based on the above table, answer the questions from Sl. No. 1 to 6.

1.

oo [ [HERHVAURHIATARI

In which decade, the average power availability per person was maximum ?
(1) 1971-1981 (2) 1981-1991 (3) 1991-2001 (4) 2001-2011

By what percentage (%) the power production increased from 1951 to 2011 ?
(1) 900% (2) 100% (3) 300% (4) 600%

Based on the average decadal growth rate, what will be the population in the year 2021 ?
(1) 36.62 million  (2) 40.34 million (3) 3849 million (4) 37.28 million

Average decadal growth rate (%) of population is :
(1 ~5% (2) ~12.21% 3) ~9.82% 4) ~6.73%

In the year 1951, what was the power availability per person ?
(1) 500 W (2) 100 W (3) 200 W (4) 400 W

N
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dqe:  TH YNA-UF H W18 (60) Tg-Taswedd IvA €, fH § SHIcER ®i fhet off u=md (50) T A1 W
T FM IHIEER R U= (50) § AfUE YT H1 IW W W IHIEAR gN A T e
T (50) G =T Hedieh feran smam | 50 W99 x 2 3T = 100 3iH

Froatafaa arfeert 291 it et i faera Saare & g9t 3teRs fou 7 €1

EL stael (fufera #) fererd Seure (i o) *
1951 20 10
1961 21 20
1971 24 25
1981 27 40
1991 30 50
2001 32 80
2011 35 100
*1 7 g = 1000 fHfaa 9

IU R ATfCThT oh SN U Y99 WEAT 1 ¥ 6 o I ST |

1. f5u <o, ufd =afeq forga 1 iiga Sucreua qaifye of ?
1) 1971-1981 2) 1981-1991 (3) 1991-2001 (4) 2001-2011

2. 991951/ 2011 & st fohaw wfaer & faea scame & 3fg g8 ©2
(1) 900% ) 100% 3) 300% (4) 600%

3. 3i9d ToeTd gfg W SMER W a9 2021 § AT} fohaet grft ?
(1) 36.62 fafaas  (2) 40.34 fafema (3) 38.49 faferem (4)  37.28 fafaad

4. STEE! w1 HEd E Il (%) FE?
1) ~5% 2 ~1221% (3) ~ 9.82% @) ~ 6.73%

5. 991951 ®, ufd =afaa faga =t Sucterar fhat of ?
1) 500 3= (2) 100 @ (3) 200 aE (4) 400 @

(
oo [ HHHBLAUIARILN

w

P.T.O.



10.

oo [ [HERHVAURHIATARI

Which decade registered the maximum growth rate (%) of population ?
(1) 2001-2011 (2) 1961-71 (3) 1971-81 (4) 1991-2001

Which of the following statements are correct about Lok Sabha ?
(a) The Constitution puts a limit on the size of the Lok Sabha.

(b) The size and shape of the Parliamentary Constituencies is determined by the Election
Commission.

(c)  First - past - the Post electoral system is followed.

(d) The Speaker of Lok Sabha does not have a casting vote in case of an equality of votes.
Select the correct answer from the codes given below :

1) (@), O, () and (d) (2) (@) and ()

(3) (@), (b)and (©) (4) (@) (© and (d)

The grounds on which discrimination in admission to educational institutions is constitutionally
prohibited are :

(a) Religion

(b) Sex

(c) Place of birth

(d) Nationality

Select the correct answer from the codes given below :

(1) (@) () () and (d) () (), () and (d)
(3) (@), (b)and (©) (4) (), (b) and (d)

As part of National Climate Change Policy, Indian government is planning to raise the
installed capacity of renewable energy by the year 2030 to :

(1) 350 GW 2) 175 GW (3) 200 GW (4) 250 GW

Assertion (A) : People population control measures do not necessarily help in checking
environmental degradation.

Reason (R) : The relationship between population growth and environmental
degradation is rather complex.

Choose the correct answer from the following :

(1) (A) is false but (R) is true.

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(4) (A) is true but (R) is false.

=
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ST 1 Faieres gig T (%) Tre <3 § <5 i T8 2
(1) 2001-2011 2) 1961-71 (3) 1971-81 (4)  1991-2001

Tk 91 & Fag H frafafad § § :H-9 woF 98 €2

(a) Hfau™ ¥ @k 91 %k GSHl w1 G i HEH T HT T 7

(b) wEEg et &= % Hm iR e fratem s gr freifa fomd s €1
() TE-TRE-T Ure fafed Jumel! ST9r8 St & |

(d) T % TEE WA w feafa o cwgaeet % ag fotas 7d 1@ S § )

= ST T e § | W@ IW A =TT FIWC

(1) (@), (), (o) ¥R (d) (2) () R ()

(3) () (b) ¥R (c) 4) () () ¥ (d)
Srerforer Geensti ¥ yaw § for el W foru S 9ret verard o1 Haenfae w9 9 foy fman e € 2
(a)

(b) fem

(c) SHH¥ME

(d) g

= ST 7T e # ¥ W& I & =TI HIWT

(1) (@), (), (0) ¥R (d) (2)  (b), () 3R (d)
(3) () (b) ¥R (0) 4)  (a), (b) ¥R (d)

T Foary IRade Aifd o 96 % ®9 §, YRA TR T a9 2030 Toh TR0 el i gefud
&THT 1 el ok IGM i IS § ?
(1) 350 GW 2) 175 GW (3) 200 GW (4) 250 GW

FRIT (A) :  SHEE (A0 & 3R ¥ e €9 9 qAfaxuig g &l Uk | 7S T8l fHerd]

T
T (R): STTHE gfg iR e g| % o % gy Sied )
frAfafed 9 9@ SW &1 9949 ST :

(1) (A) A T, W (R) 9 T

2) (A) 3R (R) TH T T 3R (R), (A) FT TE TR |

(3) (A) 3R (R) THI 9 T, T (R), (A) FT el TR T ¢ |
4) (A) 99 B, T (R) 3T9A &

6]
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12.

13.

14.

15.

16.
17.

18.
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Which of the following is an open source software ?
(1) Acrobat Reader (2) MS Word
(3) Windows (4) Mozilla Firefox

At present, in terms of per capita energy consumption (kWh/year), identify the correct
sequence.

(1) China > Russia > Brazil > India (2) Brazil > Russia > China > India

(3) Russia > China > India > Brazil (4) Russia > China > Brazil > India

Which of the following is an instant messaging application ?
(a) WhatsApp
(b) Google Talk

(c) Viber

Select the correct answer from the codes given below :

(1) (a), (b) and (c) (2) (a) and (b) only
(3) (b) and (c) only (4) (a) only

Public Order as an item in the Constitution figures in :
(1) the Residuary Powers (2) the Union List
(3)  the State List (4) the Concurrent List

NMEICT stands for :
(1) National Mission on E-learning through ICT

(2) National Mission on Education through ICT
(3) National Mission on E-governance through ICT
(4) National Mission on E-commerce through ICT

In a Computer a byte generally consists of :
(1) 10 bits (2) 4 bits (3) 8 its (4) 16 bits

Which of the following pollutants can cause cancer in humans ?
(1) Ozone (2) Pesticides (3) Mercury (4) Lead

Which of the following enables us to send the same letter to different persons in MS Word ?
(1) Mail merge (2) Mail join (3)  Mail copy (4) Mail insert

=)}



11. fr=fafaas # 9 %9 3o" 99 Siweasl €2

(1) THeE TeT 2) THTHEE
@) foes (4) WIS FRTRR
12. odEH B, 9fq =afea o1 @ua (feet 9 ser/ad) & ged & 9&@ %9 &1 ugeH Fife |
1) = > w9 > Fweid > 9Rd (2) oS > &9 > 949 > qRd
(3) ®H >HM > WRd > TS (4) w9 >=H > Iid > 9Rd
13. fr=fafad @ @ 1 T 39 HAST TeAlhyA § ?
(a) RTZHT
(b) T TR
(c) e
= QU 7T e § ¥ WE W &1 =TT HITC
(1) (@), (b) 3T () (2) FAA (a) 3R (b)
(3) A (b) 3R () (4) F (a)
14. Hf9ym ¥ t 7 & ®9 § e g fafataa § 9 fead o) &2
(1) et sl § (2) wWEEEH
(G) T (4) GHadl g+

15. TAUH.S.SME.T3. &1 o7 § -
(1) e faee o g-aftn g sme
(2) A THRE ST THIE o .91
(3) v fae o7 -Terte o omEH A,
(4) Tera faee o - o ome

16. T FHFR § T a3 | TH=a: Iiod 89 &

(1) 10 oz (2) 4 fazd (3) 8 fazd (4) 16 faza
17. frfafed § 9 f59 ygus & %R0 AME &1 HER & Fohdl ¢ 7
(1) sisA (2) HIAR® (3) U™ (4)
18. frafafed § @ #F 28 = & 7 1 Th.uE. 92 # fafie safaqal &1 ae | gued a9 © 2
(1) Ao Tt 2) HA o (3) A& HidT (4) A9 I
oo |HHIHIMUNNINIRN) 7 P10
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20.
21.

22.

23.

24.
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Which of the following phenomena is not a natural hazard ?
(1) Chemical contamination (2) Wildfire
(3) Lightning (4) Landslide

Which of the following is not an input device ?
(1) Monitor (2) Microphone (3) Keyboard (4) Joystick

Which among the following States has the highest number of seats in the Lok Sabha ?
(I) West Bengal (2) Maharashtra  (3) Rajasthan (4) Tamil Nadu

The term of office of the Advocate General of a State is :
(1) not fixed

(2) 4 years

(3) 5 years

(4) 6 years or 65 years of age whichever is earlier

Which of the following are the objectives of Rashtriya Uchchatar Shiksha Abhiyan
(RUSA) ?

(a) To improve the overall quality of state institutions.

(b) To ensure adequate availability of quality faculty.

(c) To create new institutions through upgradation of existing autonomous colleges.
(d) To downgrade universities with poor infrastructure into autonomous colleges.
Select the correct answer from the codes given below :

(1) (), (b) and (d) () (), (b), (c) and (d)

(3) (@) (b)and (©) 4) (@ (©) and (d)

Inside rural homes, the source/sources of Nitrogen Oxide Pollution may be :
(a) Unvented gas stoves

(b) Wood stoves

(c) Kerosene heaters

Choose the correct code :

(1) (a), (b) and (c) (2) (a) and (b) only

(3) (b) and (c) only (4) (b) only

@



19. fr=fafed # @ wF-9 T ©F Thfas wa T8 © 2
(1) A S (2) <A
(3) fasret wig (4) FEeA

20. frAfafed § & & feeh (3992) feasy & § 2
(1) HH (2) HIEHIBA (3) W& (4) SrEfES

21. Tr=fafad v o 9 f9 ToF =1 e 991 § 9iel &1 S gaitees g ?
(1) 9= s (2) WHER (3) TSR (4) dfHerTg

22, T U9 & HEIHaar 1 HrHe e ¢ :
(1) Fruffa & 2
(2) 47d
(3) 5o
(4) 6% AT 65 TH I MY S o T_A @
23, T IAW fan A (RATE.T) & Fefafed § 9 w1 e@ €7
(a) HIRRI GEAR St FHI o H GUR KL |
(b) T[TVl HeRTAl ohi AT IuCTeHdl Y= e |
(c) TAHN W HEleraTeral & 3o o HIEeaH § 78 HeATe Yiod T
(d) ST TTEAT ATt Tavafaeerdl 1 W Heliaaredl § STHRao HL |

= ST 7T e § 9 & S| HT =TI HIWC
(1) (a), (b) &R (d) 2) (@), (b), () &R (d)
3) (), (b) ¥R (o) 4) (@), () 3N (d)

24. WO EE H, AELSH SAFEIES TGUU H/ % HId & Hehdl &/ FHhd ¢
(a) ¥ Fem =t gfaurfed 0 e

(b) RSl =R

() fhgt 9t amat &R

T Fe H T HINT

(1) (a), (b) 3R (o) (2) o (a) SR (b)
(3) I (b) ¥R (o) (4) I (b)

oo [[HHRLANIN
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25.  Which of the following are the characteristics of a seminar ?
(a) Itis a form of academic instruction.
(b) It involves questioning, discussion and debates.
(c) Itinvolves large groups of individuals.
(d) It needs involvement of skilled persons.
Select the correct answer from the codes given below :
(1) (), (b) and (d) (2) (b) and (0
(3) (b)and (d) (4)  (b), (0) and (d)

26. As Chairman of an independent commission on education, Jacques Delors report to UNESCO

was titled :

(1)  World Declaration on Education for All

(2) International Commission on Education Report
(3) Millennium Development Report

(4) Learning : The Treasure Within

27. Which one of the following statements is correct in the context of multiple - choice type
questions ?

(1) They are more subjective than true-false type questions.

(2) They are more objective than true-false type questions.
(3) They are less objective than essay type questions.
(4) They are more subjective than short-answer type questions.

28.  Which of the following attributes denote great strengths of a teacher ?
(a) Full-time active involvement in the institutional management
(b)  Setting examples
(c) Willingness to put assumptions to the test
(d) Acknowledging mistakes
Select the correct answer from the codes given below :
(1) (), (b), (c) and (d) (2) (a), (b) and (d)
(3) (b), (c) and (d) (4) (), () and (d)

29. Ethical norms in research do not involve guidelines for :
(1) Data sharing policies (2) Thesis format
(3) Copyright (4) Patenting policy

oo [ IFERHVAURHIATARI
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25.

26.

27.

28.

29.

frafafaa & @ wH-+1 fHeE AR =1 fagman €2

(a) T T ARG HF STILYH Hl TR T

(b) TTH Y HTA, == U e faare i ¥

() 39U Hfadl & 1S gqe WA B ¥

(d) THH DIRIEIH Al F1 Wi S v Bl €|

2 fou 7T F2 W WE W F1 T HIC ;
(1) (a), (b) ¥R (d) 2)  (b) 3 (o)
(3) (b) 3R (d) (4)  (b), (c) 3R (d)

foren & &9 H T WA SN & ALY & ®Y H ISR HI TKA H T8 Sy feard i U @
Tits o :

(1) dce fexig™ A TgHyHE &R 31fa

(2) STIIME HIHYH 3 ThyE RUe

(3) foafem Taeude ful
)

4 Flﬁf*T:EWﬁlﬁ?

freafafed § @ F-91 FUA 9g-fascy YR & ye & dedf # @&t 72
(1) 3 H&-TTad 9Tt G941 1 ga § Ao Al 8 © |

(2) 3 TE-TTd oA YA T e | S aegiTs ¥ ¥

(3) 3 e ot el i gor B % aRgiss w ©

(4) o TY-IW A1 Y w1 g # Ay Afwafts g )

frefafead § 9 ®H-%F F 707 fomeh fars ot o€ ahd A TR F R ?
(a) HEATTT Yaud | quishiicren |isha Hfewd

(b) SR FEA HEA

(c) STEYNUNST & Thero & feTy aem @

(d) TTAfTE 1 SRR FH

2 fou 7T F2 W WE TR F1 T HIC ;

(1) (a), (b), () ¥R (d) (2)  (a), (b) 3R (d)

(3)  (b), (c) ¥R (d) 4)  (a) () ¥R (d)

f=1 ¥ ¥ frae faw My & R et aHl & femfde wita & 2k ?
(1) =1 33t Hifa (2) MY gEd

(3) TEAIHHRR (hIdRIE) (4) T Hifa

oo [ HHHBLAUIARILN m riro



30.

31.

32.

33.

34.
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Which of the following are the basic rules of APA style of referencing format ?
(a) Italicize titles of shorter works such as journal articles or essays

(b) Invert authors” names (last name first)

(c) [Italicize titles of longer works such as books and journals

(d) Alphabetically index reference list

Select the correct answer from the codes given below :

(1) (), (b), (c) and (d) (2) (a) and (b)

() (), () and d) (4) (0 and (d)

A researcher is interested in studying the prospects of a particular political party in an urban
area. What tool should he prefer for the study ?

(1) Schedule (2) Rating scale (3) Interview (4) Questionnaire

Which of the following statements is not true in the context of participatory research ?

(1) Its sole purpose is production of knowledge.

(2) It recognizes knowledge as power.
(3) It emphasises on people as experts.
(4) Itis a collective process of enquiry.

What are the characteristics of Continuous and Comprehensive Evaluation ?
(a) It increases the workload on students by taking multiple tests.

(b) It replaces marks with grades.

(c) It evaluates every aspect of the student.

(d) It helps in reducing examination phobia.

Select the correct answer from the codes given below :

(1) (), (©) and (d) () (@) () () and (d)

(3) (b and (d) (4) (a), (b) and ()

What are required for good teaching ?

(a) Diagnosis

(b) Remedy

(c) Direction

(d) Feedback

Select the correct answer from the codes given below :

(1) (9 and (d) () (), (b), (c) and (d)
(3) (@) and (b) (4) (), (©) and ()

—
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30.

31.

32.

33.

34.
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frfafed & @ #H-%1 TH.U et F Gy ey F g frem 2
(a) B HiaAl S S TerE st ey, & v fowet wh fod
(b) TG & TH I ek T (Afad T8 T8et)

(c) N Hfdal S T T Sd, & Mo st wk fag

(d) W gt gfafedl &1 aoigwa § geEd w<

= QT 7T e ¥ W W A 991 HIWT :
(1) (@), (b), (0) R (d) (2) (a) 3 (b)
(3)  (b), (c) 3R (d) 4) (o) ¥R (d)

Teh STIHMEAl fohedl Tl & | Tk Terifas gt fosiv ot ureell & 199 3 s5g% &1 39
I TG e ITHI ! FLIaT <1 =fen ?
(1) STt (2) TruRo A (3) WK (4) TEAE!

frefafead ¥ ¥ HH-91 HUA FIrlt STIEuH % e ¥ wdl T ¥ 2
(1) SHH THATH ¥ FH HT IAEH ¢ |

(2) %I H v F F9H U= R

(3) ¥ Al ! foRIvR A W SR S@ R |

(4) 8 4 T T THfew iR B

qaqd Td SATIH Jediohd i foear -1 § ?
(a) I 3T TS F FHRU Bk FEYR H g F T
(b) IE WTihi ! e F Fiawenfyd w7

(c) I D™ F TIH TS F AR il B |

(d) T T % T I FY F H Tl BT L

= QT 7T e ¥ W& W AT =TI HIWT ¢

(1) (b), () 3R (d) 2 (), (b), (0) ¥R (d)
(3) (b) ¥R (d) (4)  (a), (b) 3 (0)

3= forero & foru srm-orm oafer €2

(a) fem

(b) SBIER

() frw

(d) wfagfe

1= ST 7T Fe ¥ W I 1 =TI HIWT ¢

(1) (o) ¥R (d) 2)  (a), (b), () ¥R (d)
(3) (a) 3 (b) (4)  (b), (0) ¥R (d)
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35. Which of the following statements is true in the context of the testing of a hypothesis ?
(1) Both, the alternative and the null hypotheses cannot be tested.

2) It is only the alternative hypothesis, that can be tested.

(2)
(3) It is only the null hypothesis, that can be tested.
(4)

Both, the alternative and the null hypotheses can be tested.

36. Greater the handicap of the students coming to the educational institutions, greater the
demand on the :

(1) State (2) Family (3)  Society (4) Teacher

Read the following passage carefully and answer question numbers 37 to 41.

I did that thing recently where you have to sign a big card - which is a horror unto itself,
especially as the keeper of the Big Card was leaning over me at the time. Suddenly I was on the
spot, a rabbit in the headlights, torn between doing a fun message or some sort of in-joke or a
drawing. Instead overwhelmed by the myriad options available to me, I decided to just write :
“Good luck, best, Joel”.

It was then that I realised, to my horror, that I had forgotten how to write. My entire existence
is “tap letters into computer”. My shopping lists are hidden in the notes function of my phone. If
I need to remember something I send an e-mail to myself. A pen is something I chew when I'm
struggling to think. Paper is something I pile beneath my laptop to make it a more comfortable
height for me to type on.

A poll of 1,000 teens by the stationers, Bic found that one in 10 don’t own a pen, a third have
never written a letter, and half of 13 to 19 years - old have never been forced to sit down and write
a thank you letter. More than 80% have never written a love letter, 56% don’t have letter paper at
home. And a quarter have never known the unique torture of writing a birthday card. The most
a teen ever has to use a pen is on an exam paper.

Bic, have you heard of mobile phones ? Have you heard of e-mail, facebook and
snap chatting ? This is the future. Pens are dead. Paper is dead. Handwriting is a relic.

“Handwriting is one of the most creative outlets we have and should be given the same
importance as other art forms such as sketching, painting or photography.”

Answer the following questions :

37. According to the author, which one is not the most creative outlet of pursuit ?
(I) Reading (2) Handwriting
(3) Photography (4) Sketching
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35. frefafed § & -9 ®ua fordt aReern & wieo & ded § wer 872
(1) Shfeus Td 7 SHI URemeaHel %1 Ther T&i fhar S gkt 2|
(2) IT HaA dewfcad IREHEI &, et whemr foman S ekt 2|

(3) IE HaA T UReheu €, foreeR wier e s "k 71
(4) Shfeus TS T ST IS T T foRa < Hehd 7 |

36. eIfOTeh HEAM H oA 91l BT Bl fSTa Semg SAa, SaA1 SAfie STUeTT
(1) TEHMI 2) uURERALMI  (3) WA HIMI  (4) e @

FrAfataa = &t WauIYdes ufeq 3T 37 ¥ 41 7 & Y9I & 30T ST

T € H B el T el e U 98 1€ W EEIER HH 8 § SR T8 M T o H U
G €, favraeRt Sefeh 36 a2 1€ 1 R B SR 1 o o1 | H oraes vEt frafa # o, S ewdiv
Teh GO A1 faigqul Ha1g 9 $197el 39—k AL STREH & ofd SuSeA 1 fEufa | g9 T 3uerey
T fashedl @ eifaed B §9 7@ famm =1 fofa faan « e o, Sk ©, i

wfia g st HY Teqw o fo § @ faem & @ T g1 A0 @ saw-u oeE § e W
TRl I ganstl | TR ¥ A T @ W WA % e g # fodt €1 afe g3 FE Ae 1w STevdehd]
Tl T, @ H ST Y B I-AA A A g | 99 § 52 Tra-four # wed R w1 g § a1 H o1t e e
T | BTN FS 79 e W § & oueia & o whf=d F3dr § aifeh w1 3 $ThT S W fa ifus
gfaurse g 9 |

AEET fagaretl gRT 1,000 fHR oTctehi o Taeror |, foae 3 9 fo 96 109 @ T foreii &

9 3191 Herd el 8, ST § W AER 7 d el 9 8 faan e ud 13§ 19 99 & o1g at o o7e fonsid
1 et off se T o T T 9 93 iR ware @ U ford | 80% | Atk TRkl 3 o heft off hE UW
T3 &I o, 56% & SR W TS h1 HES 6l &1 91 & TH-NIRE i d STHGT & h1e fa@s i S
STEHd 1 1S SRR &1 72 g3 | 3Afaeh ¥ atfere afs foreft forsiR =l sherm o 9T o1 SA1aearshal g8 dl 9%
o odeT 99 79 &1 SR fora /1

foreh, 3R QA heft HiaTed ®F % TR W gA R ? I g -7, HEaH SR T =fén & an # g
T2 I ufosa 1 HerH 1 SIHAT AN HITS 1 SHAT T | g 37e TYiaey W TR |

TN T SRAIE Ak TsiIcde SAfueafad § 9o 38 Yanfas (Fhi), feseni 2196 R
I AT F T Tl B e THH Hed e s =nfegn )’

frefafaa aot & SR difed .

37. W@F & ATUR, frAfafad § § S FHHES H qAied ToAas Afveafad & € 2
(1) d&T (2) TEEEA
(3) TRIHTH (4) Y@= s (FRE)
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38. When confronted with signing a big card, the author felt like “a rabbit in the headlight”.
What does this phrase mean ?

(1) A state of pain (2) A state of confusion

(3) A state of pleasure (4) A state of anxiety

39. How many teens, as per the Bic survey, do not own a pen ?

(1) 100 2) 800 3) 560 (4) 500

40. The entire existence of the author revolves round :
(a) Computer
(b) Mobile phone
(c) Typewriter
Identify the correct answer from the codes given below :
(1) (b) and (c) only (2) (b) only
(3) (a) and (b) only (4) (a), (b) and (c)

41. What is the main concern of the author ?
(1) That the teens have forgotten the art of handwriting.
(2) That the teens use social networks for communication.
(3) That the teens use mobile phones.
(4)

4)  That the teens use computer.

42. Using the central point of the classroom communication as the beginning of a dynamic pattern
of ideas is referred to as :

(1) Mind mapping (2) Systemisation

(3) Problem - orientation (4) Idea protocol

43. The next term in the series
2,5,10, 17, 26, 37, ? is :
50 (3) 57 4) 62

( )
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38.

39.

40.

41.

42.

43.

T 9 FHIS T TR HA F1 91d 3T, A @ i ' sy # fondt o'’ S o ye gen | 39
e o1 7 1ef § 2

(1) &= et feafq (2) 3T =t fefa
(3) gHeIal i feufa (4) g =t feafa

foe & Tderor & TR, fha fReiRkl & o9 #1E Fow & § 2

(1) 100 (2) 800 (3) 560 (4) 500
g F Fol T ¥ 3o et ¥

(a) X

(b) IS B

(c) CERIIEX

T el T e ¥ W& SR H =TI Fiv

(1) 9 (b) 3R () (2) e (b)

(3) e (a) 3R (b) 4)  (a), (b) ¥R (0

@ H e feoar #1 €2
(1) fov fFeR TxerEs &1 wen ya ™ )

(2) T fFeR FoR &g SIS Jeaeh 1 ST & ¢ |
(3) T forviR Hemga ®F &1 3T w1
(4) T fHviR FreeR 1 WM & )

foreri 35 Tifeefiel e 1 TEeT 3 oTT e WO 1 e faeg % w9 H YA e ¥

(1) Hf&Tsh o= (2) I

(3) THE-IHETH (4) fo=R k@

Y Y@ H ST T 1 Bt 2

2,5,10,17, 26,37, 2

1 72 2) 50 (3) 57 4) 62
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44.

45.

46.

47.

48.

49.

50.
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60. The mean of the remaining students is found to be 78. The mean of the whole group will
be :

1 72 2) 80 3) 76 (4) 74

A group of 210 students appeared in some test. The mean of of students is found to be

Attitudes, actions and appearances in the context of classroom communication are considered
as :

(1) Irrational (2) Verbal (3) Non-verbal (4) Impersonal

Most often, the teacher - student communication is :

(1) Confrontational (2) Spurious (3)  Critical (4) Utilitarian

Consider the following assertion (A) and reason (R) and select the correct code given
below :

(A) : No man is perfect.

(R) : Some men are not perfect.

(1) (A) is false but (R) is true.

(2) Both (A) and (R) are true but (R) does not provide sufficient reason for (A).
(3) Both (A) and (R) are true and (R) provides sufficient reason for (A).

(4) (A) is true but (R) is false.

A definition that has a meaning that is deliberately assigned to some symbol is called :

(1) Persuasive (2) Lexical (3) Precising (4) Stipulative

A Cluster of propositions with a structure that exhibits some inference is called :
(1) A valid argument (2) An inference

(3) An argument (4) An explanation

In a classroom, a communicator’s trust level is determined by :
(I) eye contact (2) the use of hyperbole

(3)  the change of voice level (4) the use of abstract concepts

—
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44.

45.

46.

47.

48.

49.

50.

210 BT 1 Tk F9g Fhdt wien # wnfhe gam| %asﬁaﬂm%zmoww%l Y B 1 1A 78

T ST B | e Wl WHE 1 HIEA B 2
1 72 (2) 80 3) 76 4) 74

e FIuuT o Hoo § aAigiaa, S Ud Yehed i fhe 9 | HHen A € ?
(1) 9T (2) ik (3) sTemfe® O BEERIESED

forerer - ITO Y BT R
1) gfaurcas (2)  sTyTHIfUTR (@) faeEr® (4) SUIfTATETRT

frefafed Ifuere (A) 3R T (R) W =R FINT R KU 1T %2 ¥ ¥& W &1 =997 FIT
(A) : FI3 STEHT U1 TR T |

(R) : F3 3TEH 01 721 ¢ |

1) (A) A T, T (R) T T

2) (A) 3 (R) TF & & W (R), (A) F U v qh T&qa Tl Fa S
(B) (A) 3R (R) I W&l € 3R (R), (A) & faU wafe T T&qd a1 2 |
(4) (A) 99 B, T (R) 39 T

areful it 99 Sra-T9eeR §9 Tl & fau ffds e s R, weam & -

1) JIIER 2) wre-fames (3) O (4) A gy

TS a1 e, S e ekt yefild widr €, Fem ©
(1) TH Y Th 2) & frmd (3) Tk T+ (4) Tsw TLIH

el | Teh Y9 1 favamd @ fuifa g @ -
(1) 7SR fqam 9 (2) srfaeEfR % gam 9@
(3) STETS R % R 9 (4) ST STEYURST & YA °
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51.

52.

53.

54.

55.

56.

57.

58.

If the proposition ‘No men are honest’ is taken to be false which of the following proposition/
propositions can be claimed certainly to be true ?

Propositions :
(I) No honest person is man (2) All men are honest
(3) Some men are honest (4) Some men are not honest

Anil after travelling 6 km towards East from his house realized that he has travelled in a
wrong direction. He turned and travelled 12 km towards West, turned right and travelled
8 km to reach his office. The straight distance of the office from his house is :

(1) 10 km 2) 20 km (3) 14 km (4) 12 km

P and Q are brothers. R and S are sisters. The son of P is brother of S. Q is related to R
as :

(1) Father (2) Son (3) Brother (4) Uncle

The next term in the series :
B2E, D5H, F12K, H27N, ? is:

(1) 158Q (2) J561 (3) 162Q (4) Q62

Consider the argument given below :

‘Pre - employment testing of teachers is quite fair because doctors, architects and engineers
who are now employed had to face such a testing.’

What type of argument it is ?
(1) Biological (2) Deductive (3) Analogical (4) Psychological

A party was held in which a grandmother, father, mother, four sons, their wives and one
son and two daughters to each of the sons were present. The number of females present in
the party is :

1) 24 @) 12 3) 14 4) 18

Every type of communication is affected by its :

(1) Context (2) Reception (3) Transmission (4) Non-regulation

Aspects of the voice, other than the speech are known as :
(1) Delivery language (2) Physical language
(3) Personal language (4) Para language
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51.

52.

53.

54.

55.

56.

57.

58.

afg qehaTe {IE el TR el § i Tetd W STl § o freferfad qehares/qeharern § 9 fha
Ffeeaede 92 89 1 e foran ST Hehar § 2

qehaTe :
(1) = SAMGR =Afd oA T&I g1 (2) 9t TeHt SAMRR |
(3) TS ITCH TAMER | (4) P STCH THMER &l |

At 3 o T A g ) Feem A 6 A, 1 g o e g e e R o v e feen A
T T H T I 9 A iR ufvem @ foen # 12 fR # gl 9@ #, <t IR gEe T
FHT Tge % w8 for. . 1 <0 7 HT 1 3Tk R Y HEied w1 wieh g fopat &2

1) 10 .. (2) 20 fe.. (3) 14 fe.. 4) 12 feH.

PARQUERI RIRSTEAE! PHRITASH WE &1 QF R Y 91 Hely §?
(1) foa 2) (3) (4) ==

39 G H1 STl U T BT 2
B2E, D5H, F12K, H27N, __ 2
(1) 158Q (2) 756l (3) 162Q (4) Q62

1 fou 7@ 9 W foam wifS

‘Torarent 1 ISR & wieqv1 foespa 3fea © Hifer fafehcdenl, angerl T@ stfaammed, Sl 39 994
= €, =1 T8 T0& 1 9 S g’

7 e YR F1 qH 72

(1) Sifa (2) RS (3) wEYAH (4) SRR

T et e 5t T e T ), fuan, | =R g, St aferi o gl O % U O T <
g Jufeerd & el § Sufeeq Afeensti w1 S@n foadt 72

(1) 24 2) 12 (3) 14 4) 18
e YT 1 FATO geiferd el ® ¢
(1) ¥Hed® 2) SIfRT ¥ (3) wEmd (4) TR-fafrems @

Ul o TS SAETS & Te 3T i ST Il & ¢
(1) T v % &9 ¥ 2) TR W % w9 H
(3) afods ol % €9 H (4) IO 9N % &Y H
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59.

60.

The main objectives of student evaluation of teachers are :

(a) To gather information about student weaknesses.

(b) To make teachers take teaching seriously.

(c) To help teachers adopt innovative methods of teaching.

(d) To identify the areas of further improvement in teacher traits.
Identify the correct answer from the codes given below :

(1) (a) only (2) (a) and (b) only

(3) (b), (c) and (d) only (4) (a), (b) and (c) only

Among the following propositions two are related in such a way that they can both be true
although they cannot both be false. Which are those propositions ? Select the correct code.

Propositions :

(a) Some priests are cunning.

(b) No priest is cunning.

(c)  All priests are cunning,.

(d) Some priests are not cunning.

Codes :

(1) @and(d) (2 @and®) () @and(d  (4) (a)and (o)

-00o0-
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59. foenfei gru ekl & o & T&A AR ¢
(a) Toenfoiai 1 FASIE & IR § TSR Tha HTT |
(b) Torerem =i foreror el TRl | T 1 WY AT
(c) Toreror &t et fafer st & forerenl &t wewdr ST
(d) Torer & TN H IR Afersh YUR % &1 1 UgEH HIAT|

9 o3 T %2 9 WE SW H T Hi
(1) = (a) (2) e (a) 3R (b)
(3) e (b), (c) 3 (d) (4) = (a), (b) ¥R (o)

60. frfafEa qehamel 9 <1 39 Te @ Haifyd € {6 3 S W61 8 9hd € Jafd 39 1 Tod 981 8 Jahd © |
3 THATH HIY T 7 WE FHe H TIT HIC |

Ah TR :

a) O TSR o € € |

b) WIS YSIRT g T B |

¢) Tt g g E ¥ |

d) TS IR od T Ed 2

< :

(1) (a) ¥R (d) (2) (a) 3R (b) (3) (0¥ (d) (4) (a) ¥R ()

(
(
(
(

-00o0-
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